Math 49B Code:

Quiz 4 I forgot my code, so please charge me
Fri Feb 8, 2008 two points: (Name)
[4 POINTS] Perform the following operations and leave the results in trigonometric form.
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[4 POINTS] Convert the polar equation # = 5 COs 9 to rectangular form and simplify. =
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[4 POINTS] Convert the rectangular equation Xy = 4 to polar form and simplify.
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[QUESTIONS ON OTHER SIDE]



[3 POINTS] Consider the point with rectangular coordinates (-1, 1).

(a) Convert the point to polar coordinates.
(2
. @( b
~ o | pOINT & CH
.____.-—t-—— 5
=
— 4 POINT |F NST IN
COoO-ORDINATE (—/1%)0?—/"1
e (8
(b)

Find a polar representation of the point using the

opposite of the r-value you used in part (a).
g B, X
(D REE(S)

L porret encrt

[5 POINTS] Use DeMoivre’s Theorem to find the vgiggg_f;(—‘l +i )8. Write the answer in standard form.
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